

B-معادلات

11/5

حل المسائل

$$\wedge \cos x - \tan^2 x = 1 \rightarrow \wedge \cos x = 1 + \tan^2 x \Rightarrow \wedge \cos x = \frac{1}{\cos^2 x} \quad (1)$$

$$\xrightarrow{\cos x \neq 0} \cos^3 x = \frac{1}{\wedge} \rightarrow \cos x = \frac{1}{\sqrt{\wedge}} \rightarrow x = 2k\pi \pm \frac{\pi}{\sqrt{\wedge}} \quad x \in [0, 2\pi]$$

$$x = \left\{ \frac{\pi}{\sqrt{\wedge}}, \frac{2\pi}{\sqrt{\wedge}} \right\} \Rightarrow \text{حلول دارد}$$

$$\wedge \sin^2 x + \sqrt{\wedge} \cos^2 x = -2 \Rightarrow \sqrt{\wedge} \cos^2 x \leq -2 \rightarrow \cos^2 x \leq -1 \quad (1)$$

$-1 \leq \cos x \leq 1 \xrightarrow{\quad} \cos^2 x = -1$

$\xrightarrow{\cos^2 x = -1} \sin x = 0$

$$\Rightarrow x = \{k\pi\} \cap \left\{ \frac{2k\pi \pm \pi}{\sqrt{\wedge}} \right\} \xrightarrow{x \in [-1, 1]} \Rightarrow x = \{-\pi, \pi\}$$

$$\sqrt{\wedge} \sin x \cos \sqrt{\wedge} x + \sin x = 1 \rightarrow \sin x (\sqrt{\wedge} - \sqrt{\wedge} \sin^2 x + 1) = 1 \quad (1)$$

$-\sqrt{\wedge} \sin^2 x + 1$ $(\sqrt{\wedge} - \sqrt{\wedge} \sin^2 x)$ **11/8**

$$\rightarrow \sqrt{\wedge} \sin^2 x - \sqrt{\wedge} \sin x - 1 = 0 \quad \xrightarrow{\begin{matrix} a+b+c+d=0 \\ ax^2+bx^2+cx+d \end{matrix}} \sin x = 1 \quad \text{حلول دارد}$$

$$\Rightarrow (\sin x - 1)(\sqrt{\wedge} \sin^2 x + \sqrt{\wedge} \sin x + 1) = 0 \rightarrow (\sin x - 1)(\sqrt{\wedge} \sin x + 1) = 0$$

$$\Rightarrow \begin{cases} \sin x = \frac{1}{\sqrt{\wedge}} \rightarrow 2k\pi + \frac{\pi}{\sqrt{\wedge}} & , 2k\pi - \frac{\pi}{\sqrt{\wedge}} \\ \sin x = 1 \rightarrow 2k\pi + \frac{\pi}{2} \end{cases} \quad x \in [0, 2\pi] \rightarrow x = \left\{ \frac{\pi}{\sqrt{\wedge}}, \frac{\pi}{2}, \frac{3\pi}{2} \right\}$$

$$S = \frac{\pi}{\sqrt{\wedge}}$$

$$\frac{1}{\sin\left(\frac{\pi}{\sqrt{\wedge}} + \sqrt{\wedge}x\right)} + \frac{1}{\cos\left(\frac{\pi}{\sqrt{\wedge}} + \sqrt{\wedge}x\right)} = 0 \rightarrow \frac{1}{\cos \sqrt{\wedge}x} - \frac{1}{\sin \sqrt{\wedge}x} = 0 \quad (1)$$

$$\rightarrow \frac{\sqrt{\wedge} \sin \sqrt{\wedge}x - 1}{\sin \sqrt{\wedge}x} = 0 \quad \xrightarrow{\sin \sqrt{\wedge}x \neq 0} \sin \sqrt{\wedge}x = \frac{1}{\sqrt{\wedge}} \rightarrow \sqrt{\wedge}x = \begin{cases} 2k\pi + \frac{\pi}{\sqrt{\wedge}} \\ 2k\pi + \frac{3\pi}{\sqrt{\wedge}} \end{cases}$$

$$\Rightarrow x = \begin{cases} k\pi + \frac{\pi}{\sqrt{\wedge}} \\ k\pi + \frac{3\pi}{\sqrt{\wedge}} \end{cases} \quad \xrightarrow{\sin x \neq 0} \begin{cases} x_1 = \frac{\pi}{\sqrt{\wedge}} \\ x_2 = \frac{3\pi}{\sqrt{\wedge}} \end{cases} \Rightarrow x_2 - x_1 = \frac{2\pi}{\sqrt{\wedge}} \rightarrow \tan \sqrt{\wedge}x = \tan \frac{\pi}{\sqrt{\wedge}} = \boxed{-\sqrt{\wedge}}$$

$$m(\cos x - \sin x) - \sqrt{4} \sin 2x = \sqrt{4} \rightarrow -\sqrt{4} \cdot m(\sin(x + \frac{\pi}{4})) = \dots \quad (a)$$

$$\rightarrow m(\sin(x + \frac{\pi}{4})) + \sqrt{4} \sin 2x = -\sqrt{4} \quad \cos(x + \frac{\pi}{4}) = \frac{\sqrt{4}}{r} \rightarrow \sin(\frac{\pi}{4} - x - \frac{\pi}{4}) = \frac{\sqrt{4}}{r}$$

$$\Rightarrow \cancel{m} \frac{\sqrt{4}}{r} + \cancel{(-)\sqrt{4}} \sin 2x = \cancel{-\sqrt{4}} \rightarrow \frac{1}{r} m - \sqrt{4} \sin 2x = 1 \Rightarrow$$

$$\frac{m - r}{4} = \sin 2x \quad \cos(x + \frac{\pi}{4}) = \frac{\sqrt{4}}{r} \rightarrow \frac{m - r}{4} = -\frac{1}{r} \Rightarrow \boxed{m = -\frac{r}{r}}$$

$$\Rightarrow x = \begin{cases} \frac{r}{4}k\pi - \frac{\pi}{4} \\ \frac{r}{4}k\pi - \frac{3\pi}{4} \end{cases}$$

$$\sin(x + \frac{\pi}{4}) \cdot \cos(x - \frac{\pi}{4}) = \sin(\pi - (x + \frac{\pi}{4})) \cdot \sin(\frac{\pi}{4} - (x - \frac{\pi}{4}))$$

$$\Rightarrow \sin(\frac{\pi}{4} - x) \cdot \sin(\frac{\pi}{4} - x) = 1 \Rightarrow \sin(\frac{\pi}{4} - x) = \pm 1 \rightarrow$$

$$\begin{cases} \sin(\frac{\pi}{4} - x) = \sin(\frac{\pi}{4}) \rightarrow x = \frac{\pi - 4k\pi}{4} \\ \sin(\frac{\pi}{4} - x) = \sin(\frac{3\pi}{4}) \rightarrow x = \frac{-\pi - 4k\pi}{4} \end{cases} \quad x \in [0, 2\pi] \rightarrow \boxed{x = \left\{ \frac{\pi}{4}, \frac{3\pi}{4} \right\}}$$

$$\sin x + \sqrt{4} \cos x = \sqrt{4} \rightarrow \frac{1}{r} \sin x + \frac{\sqrt{4}}{r} \cos x = \frac{\sqrt{4}}{r} \rightarrow$$

$$\cos(x - \frac{\pi}{4}) = \cos(\frac{\pi}{4}) \Rightarrow x - \frac{\pi}{4} = k\pi \pm \frac{\pi}{4} \Rightarrow x = \begin{cases} \frac{r}{4}k\pi + \frac{\pi}{4} \\ \frac{r}{4}k\pi - \frac{\pi}{4} \end{cases}$$

$$x \in [-\pi, \pi] \rightarrow \boxed{x = \left\{ -\frac{\pi}{4}, \frac{\pi}{4}, \frac{3\pi}{4} \right\}} \rightarrow \boxed{S = \frac{9\pi}{4}}$$

$$r \sin x \sin(\frac{r\pi}{r} - x) = -r \sin x \cos x = -r \sin 2x = 1 \quad (A)$$

$$\rightarrow \sin 2x = -\frac{1}{r} \rightarrow 2x = \begin{cases} k\pi + \frac{\pi}{4} \\ k\pi + \frac{3\pi}{4} \end{cases} \rightarrow x = \begin{cases} \frac{k\pi - \pi}{2r} \\ \frac{k\pi + \pi}{2r} \end{cases} \quad x \in [0, 2\pi] \rightarrow \boxed{x = \left\{ \frac{3\pi}{4}, \frac{5\pi}{4} \right\}}$$

$$\boxed{S = 2\pi} \quad \checkmark$$

$$(1 + \cos^r a)(1 + \cos^r a)(1 + \cos^r a) = \frac{1}{\Lambda} \xrightarrow{x \sin^r a} \frac{1}{\Lambda} \sin^r \Lambda a = \frac{1}{\Lambda} \quad (9)$$

$$\rightarrow \sin^r \Lambda a = 1 \rightarrow \sin \Lambda a = \pm 1 \rightarrow \begin{cases} \Lambda a = k\pi + \frac{\pi}{2} \rightarrow a = \frac{k\pi}{\Lambda} + \frac{\pi}{2\Lambda} \\ \Lambda a = k\pi + \frac{3\pi}{2} \rightarrow a = \frac{k\pi}{\Lambda} + \frac{3\pi}{2\Lambda} \end{cases} \quad x \in [0, 2\pi] \rightarrow \boxed{S = \frac{12\pi}{14}}$$

$$\tan(\pi) \cdot \tan(x) = 1 \rightarrow \frac{\sin \pi}{\cos \pi} = \frac{\cos x}{\sin x} \rightarrow$$

(10)

$$\cos \pi \cdot \sin x - \sin \pi \cdot \cos x = 0 \rightarrow \sin x = 0$$

$$\pi = k\pi \pm \frac{\pi}{4} \rightarrow x = \frac{k\pi}{4} \pm \frac{\pi}{4} \xrightarrow{x \in [0, \pi]} x = \left\{ \frac{\pi}{4}, \frac{3\pi}{4}, \frac{5\pi}{4}, \frac{7\pi}{4} \right\}$$

$$\boxed{S = 4\pi}$$

$$1 + \cos \pi x = \cos^2 x$$

(9)

$$\int 1 + \cos \pi x = \cos^2 x$$

$$\begin{cases} 1 + \cos \pi x = \cos^2 x \\ 1 + \cos \pi x = \cos^2 x \\ 1 + \cos \pi x = \cos^2 x \end{cases} \rightarrow \cos^2 x \cos^2 x \cos^2 x = \frac{1}{4}$$

$$\cos^2 x \cos^2 x \cos^2 x = \frac{1}{4} \xrightarrow{\sqrt{}} \cos x \cos x \cos x = \pm \frac{1}{4} \xrightarrow{\times \sin x} \sin x \neq 0$$

$$\underbrace{(\sin x \cos x)}_{\sin 2x} \cos x \cos x = \pm \frac{\sin x}{4} \rightarrow \frac{1}{4} (\sin 2x \cos x) \cos x = \pm \frac{\sin x}{4}$$

$$\frac{1}{4} \times \frac{1}{4} (\sin 2x \cos x) = \pm \frac{\sin x}{4} \rightarrow \frac{1}{16} \sin 2x = \pm \frac{\sin x}{4}$$

$$\sin 2x = \pm \sin x \rightarrow \begin{cases} 2x = k\pi + x \leq k\pi + \pi - x \\ 2x = k\pi - x \leq k\pi + \pi + x \end{cases}$$

$$x = \frac{k\pi}{4} \xrightarrow{MAHA} k=3 \rightarrow x = \frac{3\pi}{4}$$

$$x = \frac{k\pi}{4} \xrightarrow{MAHA} k=4 \rightarrow x = \frac{\pi}{4}$$

$$x = \frac{(k+1)\pi}{4} \xrightarrow{MAHA} k=2 \rightarrow x = \frac{3\pi}{4}$$

$$x = \frac{(k+1)\pi}{4} \xrightarrow{MAHA} k=3 \rightarrow x = \frac{\pi}{4}$$

$$\rightarrow \boxed{MAHA = \frac{\pi}{4}}$$

* A نمی تواند برابر خود باشد چون طبق $\sin x \neq 0$ اصفاف صفر در قعر گرفته ایم!

$$\cos 2x = 1 - 2\sin^2 x \quad (\text{فرمول ظاہری})$$

$$2\sin x(1 - 2\sin^2 x) + \sin x = 1 \rightarrow 2\sin x - 4\sin^3 x = 1$$

$$\sin 3x = 1 \rightarrow 3x = 2k\pi + \frac{\pi}{2} \rightarrow x = \frac{2k\pi}{3} + \frac{\pi}{6} \quad \cdot \leq x \leq 2\pi$$

$$k=0 \rightarrow x = \frac{\pi}{6}, \quad k=1 \rightarrow x = \frac{5\pi}{6}, \quad k=2 \rightarrow x = \frac{9\pi}{6}$$

$$S = \frac{\pi}{6} + \frac{5\pi}{6} + \frac{9\pi}{6} = \frac{15\pi}{6} = \boxed{\frac{5\pi}{2}}$$

$$\cos\left(x + \frac{\pi}{2}\right) = \frac{\sqrt{2}}{2} (\cos x - \sin x) = \frac{\sqrt{2}}{2} \rightarrow \cos x - \sin x = \frac{\sqrt{2}}{2}$$

$$\cos x - \sin x = \frac{\sqrt{2}}{\sqrt{2}} \xrightarrow{\text{بسط}} \frac{\sqrt{2}}{2} \rightarrow \boxed{\cos x - \sin x = \frac{\sqrt{2}}{2}}$$

$$(\cos x - \sin x)^2 = 1 - \sin 2x = \frac{2}{2} \rightarrow \boxed{\sin 2x = \frac{1}{2}}$$

$$m(\cos x - \sin x) = 4\sqrt{2}(\sin 2x) = \sqrt{2} \rightarrow \frac{\sqrt{2}}{2} m - 4\sqrt{2}\left(\frac{1}{2}\right) = \sqrt{2}$$

$$\frac{\sqrt{2}}{2} m - \sqrt{2} = \sqrt{2} \rightarrow \frac{m\sqrt{2}}{2} = 2\sqrt{2} \rightarrow \boxed{m=4}$$